Chapter 15 

1. If M were 800 and V were 9, how much would PQ be?

2.
If P were 7 and Q were 1200, how much would MV be?

3.
If M were 900, V were 5, and P were 9, how much would Q be?

4.
If V were 8, P were 6, and Q were 1200, how much would M be?

5.
According to the crude quantity theory of money, if M were to increase by 8 percent, what would happen to V, P, and Q?

6.
Initially M = 500, V = 8, P = 4, and Q = 1000. According to the crude quantity theory of money, if M rose to 600, how much would V, P, and Q be?

